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% 4th Semester Examination
| BIOTECHNOLOGY
| Paper - GE4AT
Environmental Biotechnology

Full Marks : 40 Time : 2 Hours

e figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

1, Answer any five questions from the following :
5x2=10

(@) Name two conventional fuels. 2

(b) Write down the enviornmental impact of
methanogenic bacteria. 2

(c) Name two microbes that can degrade lignin.
| 1+1
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(d) Name one microbe which can degenerate
pesticides and aeromatic compounds each. 2

() What is VAM? 2
(f) Write one petroleum by-product and one
chlorinated hydrocarbon. 2
(g) Name one microorganism that enrich uranium
ore. 2
(h) Define symbiosis with an example. 1+1

2. Answer any four questions from the following :

4x5=20

(a) Write down the impact of conventional fuels on
environment. 5

(b) Write down bioremediation of contaminated
water with oil spill in ocean. 5

(c) Write note on Phyto-remediation. 5

(d) What is municipal waste? Classify it according
to composition. 213

(e) Write down the contribution of genetically
modified plants on environment. 5
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(f) What is biomagnification? Give suitable example.
3+2

3. Answer any one questions from the following :
| 1x10=10

\ (a) What is environmental biotechnology? Write two
\ instances of biotechnological applications that can

improve environmental health. 2+4+4
(b) Write notes on : 5+5

i| (i) Bioleaching (ii) Biofertilizer
|
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